


82V Pole Hedge Trimmer 82PHA 2300086 6952909025261 - Head

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

1 von 3 09.03.2022, 14:41



Ref # Part # Description Qty Context Note

12 RA333033135 Rotary assembly 1 Set

12.1 R0100379-00 Cable card button 1 Set

12.2 R0100380-00 Cable assembly 1 Set

Cable assembly 1

Rotary upper cover 1

Rotary lower cover 1

Ring 1

Copper bush 2

Swivel adjusting ring 2

Bolt 7

Spring washer 5

Grease 0.0015KG

Rubber washer 1

Screw M5X20 1

Shaft Sleeve 1

13 RA361013128 Motor assembly 1 Set

Motor 1

Shaft sleeve 1

Gear (small) 1

Bolt 2

14 RA341013135 Motor cover assembly 1 Set

Motor left cover 1

Motor right cover 1

Screw ST4-18 4

15 RA341033135 Rotary handle assembly 1 Set

Rotary handle upper cover 1

Rotary handle upper cover 1

Blot M5*30 1

Nut M5 1

Dust Pad 1

16 RA333013135 Blade assembly 1 Set

16-1 RA311083135 Gearbox assembly

Gear box upper cover 1

Gear box lower cover 1

16.3 R0100381-00 Bearing 1

Bearing 1

Clip for hole 1

16.5 R0100382-00 Bearing 1

Bearing 1

Washer 1

Screw M4*8 1

Oil 0.015 KG

Screw M5*17 4

Spring 2

Screw M4*16 4

Pin F3*8 2

Washer 1

16.14 R0100383-00 Eccentric connecting rod assembly 1

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

2 von 3 09.03.2022, 14:41



Ref # Part # Description Qty Context Note

Eccentric connecting rod assembly 1

Washer (bigger) 1

16.16 R0100384-00 Gear (bigger) 1

Gear (bigger) 1

Washer (small) 1

16.18 R0100385-00 Connecting ring

33900897 Connecting ring 1

16.19 R0100386-00 Compression ring 1

Compression ring 1

Circlip 1

16.21 R0100387-00 Bearing 2

Bearing 2

Locating slot 1

Screw M5*25 2

Rust-proof oil 2 0.0004 KG

Screw M5X20 2

Grease 0.0015 KG

Sealing Strip 2

Waterproof Plug 1 0.003 KG

16-2 RA331013135A Blade

17 RA341143135 Blade cover 1 Set

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

3 von 3 09.03.2022, 14:41



82V Pole Hedge Trimmer 82PHA 2300086 6952909025261 - Housing

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

1 von 2 09.03.2022, 14:41



Ref # Part # Description Qty Context Note

1 RA341082703A Rear handle bracket assembly 1 Set

Rear handle bracket 1

Screw ST4-18 4

2 RA341032461 Housing assembly 1 Set

Right housing 1

Left decorative cover 1

Right decorative cover 1

Screw ST4-18 10

Screw M5*10 4

Tension disc 1

Screw M4*12 1

3 RA341101952AB Release button assembly 1 Set

Battery button 1

Battery button fixed shaft 1

Cage konb sleeve 2

Torsion spring 1

4 RA341052461 Battery chamber assembly 1 Set

Battery chamber 1

Release button clamp 1

Shrapnel 2

Inseart seat 1

Screw ST4*10 5

Fixed plate 1

5 RA341012461 Handle assembly 1 Set

Left handle 1

Right handle 1

Screw ST4-18 4

6 RA341062461A Switch trigger assembly 1 Set

Switch trigger 1

Spring piece 1

Button 1

7 RA341092703 Armguard Support assembly 1 Set

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

2 von 2 09.03.2022, 14:41



82V Pole Hedge Trimmer 82PHA 2300086 6952909025261 - Rod

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

1 von 2 09.03.2022, 14:41



Ref # Part # Description Qty Context Note

8 RA362013128 PCB assembly 1 Set

PCB 1

Five core wire 1

Speed switch 1

Micro switch 1

Film panel 1

Micro switch 1

Thrinkable tube f5 1 12 CM

Thrinkable tube f13 1 6 CM

Speed PCB 1

Magnet ring 3

Thrinkable tube f25 5

9 RA333093128 Tube assembly 1 Set

Sponge washer 1

Motor clip tube 1

Screw M4*12 3

Blot M5*8 1

Sponge washer ? 1

Hoop 1

Rubber sleeve of fixed rod 1

Button 1

Tube 1

Screw ST4-18 1

10 RA311062461 Straps buckle assembly 1 Set

Screw M5*12 1

Nut M5 1

Straps tube 1

Straps buckle 1

11 RA349013033 Harness assembly 1 Set

PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPI.dll...

2 von 2 09.03.2022, 14:41


